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1. Many professional schools require applicants to take a standardized test. Suppose that
1000 students take such a test. Several weeks after the test, Pete receives his score report;
he got a 63, which placed him at the 73rd percentile. This means that

—ee  —

Pete did worse than about 73% of test 5 Pete did worse than about 63% of test

A
takers takers
c Pete's score was below the median @Pete did better than about 73% of test
takers S ee J\Q;Cw\.\'\' NN
c| Pete did better than about 63% of test o5 ?Q,\"C.QM‘\"\ \e
takers.
2.

For the Normal distribution shown, the standard deviation is closest
to

https://quizizz.com/print/quiz/6053755fa5c4f4001c008895

177



1/18/22, 8:44 PM

3.

AP Statistics Exploring 1-Variable Data

Rainwater was collected in water collectors at 30 different sites near an industrial complex,
and the a‘r\n\%unaof aeisgj'ty (pH level) was measured. The mean and standard deviation of the
values are 4.6('(.) and 1.10, respectively. When the pH meter was recalibrated back at the
Iaboratory,-it—Was found to be in error. The error can be corrected by adding 0.1 pH units to
Mhe values and then multiplying the result by 1.2. The mean and standard deviation of
the corrected pH measurements are

5.64,1.32 @.Lb*.bc‘-ﬁrs'c" B| 564,144
Q )LD = 3%

C| 564120 D| 540,144 & .\— £(‘ )(,
] deXea Velve doeg wnot atiect,

Bl 540,132 lalaas T Yo oot stamdard deviat on
4, 0 The figure shows a cumulative relative frequency graph of the

; fZ e een number of ounces of alcohol consumed per week in a sample of
(o-10 3 “ . 150 adults who report drinking alcohol occasionally. About what
=407 fz : ; 4+ percentof these adults consume between 4 and 8 ounces per

L C:nsu:pﬁolj(ozl: o Week?
2, sovrwv \vnn x‘b
(nD 40% B 80% See oyepn

Cc| 60% Dl 20%
E 50%
5. The average yearly snowfall in Chillyville is Normally distributed with a mean of 55 inches. If

the snowfall in Chillyville exceeds 60 inches in 15% of the years, what is the standard

deviation? =\ 69, of the qears Yae smawfallig ¢ LO

Se LD 15 the 6™ Prreant.\e
A 6.04 inches ) . The standard deviation cannot be
TIL- NP e wnvesse normd computed from the given information.
Arees 5
C| 893inches Mm O @4.83 inches
s \
. . . : ‘\'euwé‘-&"l
E | 5.18inches o vs 2=1.030643 LD wmches 15 [D3LYD S v>
¢ ° ( A(v'w.:" (o s oeoVe e e
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The figure shown is the density curve of a distribution. Seven values
are marked on the density curve. Which of the following statements
is true?

—

A B ¢ D EF G

A | The 3rd quartile of the distribution is D. B The mean of the distribution is E.

C The median of the distribution is C. The median is D and the mean is C

- £ me.A\a
E The area between A and B is 0.50. Lc.g* S\(zwv.& __.> mean € o n
eppesars Yo be _-\'\ac wedian becavt
sof, st e areo ¢ Yo the \ef4 ol .*)
7. Which of the following is not correct about a standard Normal distribution? @wd S0 1§ e

— 1‘\!—"‘
A The proportion of scores that satisfy z < -1 The proportion of scores that satisfy z> 3
is 0.1587. is 0.9938. X The proportion of scores
— b fe Y Skandecrdh
. . , dedictipns ahove tht mecn
c The proportion of scores that satisfy z > 1 5 The proportion of scores that satisfy z<0 s
is 0.1587. is .5 i\osot
o ¢,

8.  Until the scale was changed in 1995, SAT scores were based on a scale set many years ago.
For Math scores, the mean under the old scale was 470 and the standard deviation was 110.
In 2009, the mean was 515 and the standard deviation was 116. What is the standardized
score (z-score) for a student who scored 500 on the old SAT scale?

—

Al 013 Bl -0.13 & T o
()

cl 30 D/ -027 2 - go0 —4?0
—

o
@ 0.27

9. Until the scale was changed in 1995, SAT scores were based on a scale set many years ago.
For Math scores, the mean under the old scale was 470 and the standard deviation was 110.
In 2009, the mean was 515 and the standard deviation was 116. Gina took the SAT in 1994
and scored 500. Her cousin Colleen took the SAT in 2013 and scored 530. Who did better on
the exam, and how can you tell?

The two cousins did equally well - their z- 5 Colleen her standardized score is higher
scores are the same. than Gina's.

@ Gina- her standardized score is higher D Colleen - she scored 30 points higher than

than Colleen's. Gina.
o\& T Naw SAT
SAa o

Gina - the standard deviation was bigger in sz 439 Mf_?"z
= 013, o= ne o §30-515
.. - goo—‘\ ° Co“u».-'t: --'—“_'
https://quizizz.com/print/quiz/6053755fa5c4f4001c008895 Gira: 2 'T\% Y .';' 37

.22



1/18/22, 8:44 PM AP Statistics Exploring 1-Variable Data

10. You record the age, marital status, and earned income of a sample 1463 women. The
number and type of variables you have recorded is

A 3 quantitative, 0 categorical B 4 quantitative, O categorical
nemertC
C 2 quantitative, 2 categorical @ 2 quantitative, 1 categorical
Goe mar.\‘\"& s‘.‘-\'\ls
E 3 quantitative, 1 categorical inteme
11. Earthquake intensities are measured using a device called a

seismograph, which is designed to be most sensitive to earthquakes
with intensities between 4.0 and 9.0 on the Richter scale. The image
4! { 55 H BT Eg ﬁﬁ u 5! provided has measurements from nine earthquake readings, where
| | W i Lindicates the earthquake had an intensity below 4.0, and and H
indicates that the earthquake had an intensity above 9.0. The
medﬂ earthquake intensity of the sample is

Al 870 e_(.}“\% 6.00 sofe ¥ M

w9

\}"\,L‘\
C 5.75 l D Cannot be determined
E 647 L 4.6 %2 55 2.3 % nW
mn):\w
12. ol BT
0 In a statistics class with 136 students, the professor records how
:“ much money (in dollars) each student has in his or her possession

during the first class of the semester. Based on the histogram, the
0 percentage of students with less than $10 in their possession is

” e -_—
closest to

O T R S T
OO0 20 30 40 30 60 70 80 % 100 110
Amount of money

@ 45% Lo o M5 B 60%

C 35% - D 70%

E 30%
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13. N In a statistics class with 136 students, the professor records how
5” much money (in dollars) each student has in his or her possession
. during the first class of the semester. Which of the following
! Saed@Edho statements about this distribution is not correct?
A | The histogram is unimodal. B The medianis less than $20
TR~ Q3 . 30
ThelQRis$35 7  cewox \“‘b}'\)* “* - D/ The mean is greater than the median. L 207
Ve CG_ A\ W -Q\,,e,\w“f OJVB_QI’D A~ % *
Q' o SRS
E| The histogram is right-skewed. © «® . ¥< ¥ et N7 \,D‘K
L\ \:-\. \aw\ ! "\‘V\’J’. \,,e.*VJ g\ ¥
Ve e RIS V6 e 2oy
14. o| 28 !
1] 2245 Forty students took a statistics examination having a maximum of
2 | 01333358889 _— U
3 | 001356679 50 points. The score distribution is given in the stem-and-leaf plot.
; 22444466788  The third quartile of the score distribution is equal to L
000N +4he
e \S’C ) & % LJQ-\-VJQLH
. : o e WO end 2 5 colg . '$
The weden '\ ek~ 5 wd 2\S¥ scofe.
Al 43 B 45
c 32 D 44
E 23
15. The mean salary of all female workers is $35,000. The mean salary of all male workers is
$41,000. What must be true about the mean salary of all workers?
A | It must be larger than $38,000 B Itcannot be larger than $40,000

It could be any number between $35,000 5 It must be larger than the median salary

and $41,000 \

it must be $38.000 e (Lm:\_k \QN,\,J e (\\!‘m\oQX' o M o\ aw&-CLMa 2
wor kers e 55 Ay

/\/\\35\ Quw - C.o€4-

Mw e —> Close Yo §UIK
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16. — A survey was designed to study how business operations vary
. ez according to their size. Companies were classified as small,
R { W) el Lo medium, or large. Questionnaires were sent to 200 randomly

selected businesses of each size. Because not all questionnaires
were returned, researchers decided to investigate the relationship
I A between the response rate and the size of the business. What

percent of all small companies receiving questionnaires responded?
\LC) 6\1‘\— DQ 'LDD A\"(>)Y'6-9\

Al 12.5% ceogended g gy
cl 50.8% B @ 62.5%
El 20.8%
17. — A survey was designed to study how business operations vary
b according to their size. Companies were classified as small,
bod Sl lfin g medium, or large. Questionnaires were sent to 200 randomly

selected businesses of each size. Because not all questionnaires
were returned, researchers decided to investigate the relationship
[ oo between the response rate and the size of the business. Which of
the following conclusions seems to be supported by the data?

Overall, more than half of companies 5 There are more small companies than
responded to the survey. large companies in the survey.
If we combined the medium and large Exactly the same number of companies
companies, then their response rate responded or didn't respond.
would be equal to that of the small \
companies. w oo " ao
p ) VDY e \{LS -\/\/\G\F\
W
Swes appear.to have a higher . (\0“ \ \\Qg
response rate then mediumorlarge > wore
companies.

18.  The average score on a history exam was 55, with a standard deviation of 14. The instructor

chose to add 10 points to each score. The mean and standard deviation of the resultipg -
scores were ) e I C FRKSeS \°“l 1D, Svordar 2 v 1o

Adses Mok NN ':\2—~

The mean and standard deviation remain @wean 65, standard deviation 14
unchanged

C mean 65, standard deviation 24 D mean 55, standard deviation 24

Cannot be determined with the
information given
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Answer Key

1.d 2.3 3.a 4. a
5.d 6.d 7.b 8.e
9.c 10.d 11.b 12.a
13.¢ 14.d 15.¢ 16.d
17.e 18.b
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